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Problem 1 � �k�	������  0�3¢¡8£�0j¤ � 35F�4�¥¦6 F = {{ §x}, {y, z}, {y, §z}, {x, §y, z}, {x, §y, §z}} ¨
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¯ � ¡8£ x À V � 4 ° £:¡5£�6)¡k0[6 ° £ ° ¥¦6)4 � 0 � ¤ F °[�	� ¡�6 ����� 0 � ¡5£�0�3 x
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Problem 3 � º 0�¡ S Ç {0, 1}n
2y0 ���	� 0[F « ¡-7 ¨#Ë £ � ¯Ì¡8£?6q¡�¡5£�0�350t0�· ��� ¡ � 6 « 6q38¡ � ¡ ���	��� ¤�¡5£�0 n

¼
 �� Fc0 ���8���	� 6J¥ ° 412y0 {0, 1}n ��� ¡ � ¤Í6 ° 0 � ϕ1, ϕ2, . . . , ϕ|S| � 4 ° £»¡5£�6)¡m0n6 ° £ ϕi °[�	� ¡�6 ����� 0�·16 ° ¡5¥�7
1
0[¥�0[Fc0 � ¡ � ¤ S ¨

¹	¹	¹
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4.1 ©j��ª 0�6 � 0�·�6JF « ¥�0 � ¤�6 � 4 ��� 6q¡ ����¬ 6)2�¥�0�F �	��� ¡ �	� 0j9#=àP)¼ �m½ /Ä¤ � 35F�4�¥¦6�=<6 ��  0�· « ¥¦6 ��� ¯�£g7
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Problem 5 � Ë 6JF « ¥�0�6t3�6 �� �� F 1
¼ �¢½ /å¤ � 35F�4�¥¦6 Fn,p �qª 0�3 n ª 6)3 � 6)2�¥�0 � 6 � ¤ � ¥�¥ � ¯ � D � £ ���	� 00n6 ° £ � ¤U¡8£�0 2n «y�	�8��� 2�¥�0 ° ¥¦6)4 � 0 � {x1}, . . . {xn}, { §x1}, . . . , { §xn}

¯ � ¡5£ « 3 � 2?6)2 � ¥ � ¡-7 p
= ����  0 « 0 � ¼

  0 � ¡8¥�7 � ¤#0n6 ° £ � ¡5£�0�3 Á ¡5£ ���U� 6)F « ¥ ����®k���N ���î 0�350 � ¡
¤�3 � Fä¡5£�0 � 6JF « ¥ ����® ¯�0  ��� Â��� ¡5£�0ï¥�0 ° ¡541350�Ã ¨
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Problem 6 � ñ 0 ° 6J¥�¥U¡8£�0�¤ � ¥�¥ � ¯ ����® ¤Í6 ° ¡[D?O k
¼ �m½ /+¤ � 35F�4�¥¦6Â¯�£�0�350�0 ª 0�387 ª 6)3 � 6)2�¥�0 �#°[° 413 �

��� 6)¡kF �	� ¡ k ° ¥¦6J4 � 0 ������� 6q¡ ����¬ 6)2�¥�0 ¨ í�£�0 « 3 �#� ¤ ��� 6  �� 380 ° ¡�6 «�« ¥ ��° 6)¡ ���	��� ¤ Ê 6J¥�¥�³ � í�£�0 � 350[F ¨
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Claim: º 0�¡ F
2y0�6 �m½ /ã¤ � 35F�4�¥¦6 ��ª 0�3 ª 6)3 � 6)2�¥�0 � 0�¡ V ¨ / � 3�0n6 ° £ ª 6)3 � 6)2�¥�0 v
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¯�0 ��® £g¡ (v) :=
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C ­ F
1
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.

L�¤
¯�0 ��® £�¡ (v) ò 1
¤ � 3�6J¥�¥ ª 6)3 � 6q2?¥�0 ����� V

=�¡8£�0 � F ���m� 6)¡ ����¬ 6)2�¥�0 ¨
Hint: �k�	������  0�3ï¡8£�0m2 ��« 6)38¡ � ¡80 ® 3�6 « £ �	� V

6 ��  F
¯v£�0�350

(v, C) À V ó F ��� 6 � 0  �® 0 �µî v À C

� 3 §v À C ¨�½¢� ¯   0 ¬�� 0�6�¯�0 ��® £�¡¢¤¦4 ��° ¡ ���	�»�	� ¡5£�0�0  �® 0 ��� ¤
¡5£ ���m® 3�6 « £ ¨ L�¤�7 � 4  ���� ¡¢3 ��® £�¡n=¡5£�0 � ¡�6)¡50�Fc0 � ¡m¤ � ¥�¥ � ¯ � 6 ® 6 ��� ¤�3 � F Ê 6)¥�¥�³ � í�£�0 � 350[F ¨
Hall’s Theorem: º 0�¡ G = (A, B, E)
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¹	¹	¹


